. P, X = (4o cos§)CoSO L
Ext: Righe hakf of brus S I Y= (at .L,cesc; $in® 6?4273
Wit olA’WNd MWN«Q o= =

= bgfh+ 0_49 4T
—p}:éXQZ Y, Gompute {la of F Hhmugh S

X= ot Pof) 05V Eb
< g' Xﬂ:@ osl<m
N b 2= b SinD
="l g G, § %= —Grisy <k
* &i 9:’9 et o<Don
Fx o F ff £ ad 2=z

CE = voxed, 3) = @8t -tz

Lok S, and €, Le 4no diks With outuen] hormal

St SHts, = the boundorg of- solid i ool
by gt bl At

Grauss. Theorom = K FAdS = Kfvpdxdgdz @l&m/j&

§+$rl£
4 K endd = gg_&_ds KF;AS*{\E(C‘M@({%
= K udS +(gdS +{{ 1 oldydz
> - Sy

= I vhae
= gﬂv {0,027 0(%0(2

(GTMSQ Tl\”\) — gg <0)0)2> dS
SHH,



- gg(@ﬂ) 2 - ﬁ&g + gg <0’°)£>.:\Vldg +S§ <o, 27.7\(13
$ N oAy S?

= g (a,%Z?-ﬁd S

S
- “ Lo,0,2> - TDXTS.‘ Je&«,t
b C s (Hwtlt Sollusims |
ToX Ty = (atolosyy & LOBYLosD , CosfSinb , ST V7)

. Z = by
- §f

o 70

n Lsing (atbosidbSing de O(}L
- LZ‘TL giﬂ Sin'tf-(a "’(0095‘(')01‘%
= g dy + b St cosy oy

- b= [a Sj?\ (’C;&l‘qu/ +L gRS\‘*\z‘f A sin ‘f]
We con oo compute the vabume divectly:

ﬁél drdydlz :Sg/ g l dxmﬁa/\dz ;V( % L_WT;]LAR/\MAAe

jAca ton

V Xz (at+ R&sf)esd [CcR<p
Y =(a + ROVSLF)SV@ >los L(fger
Z = Rg‘rm,' o& P <t

dx = Cos st dR —Rsipsd Aty ~ e Reosh) Sinsicl

)8 X,
JacoLion - dx/\dzmdz - 'zié 20 0\;2/\&5;/\&9




Ex?_?

Sl :

A rea Bemotvseol lo;, r=sd  ogbsm.

1 C
X
Area (D) = ldx = gxd«y

CP-o QA=x)

q@x Py iy = § bdx+ O.&y
(fo=fw)

Am :g Xd/?/ g\ ’gm(w)dﬁ l%i_ﬁ@d@
C. fX:rODSB = Cind k) = __\; Sin2g

d?f= 5“9)&9 = Sin(9)d®

o<



